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Iy mwn: dispute 2”2»1/0'05n regarding mxnn Nk 07ph Yaw)
a  consensus: if he took an oath to cancel a mxn (non-performance) — invalid (if he fulfills mxn — exempt)
b if he took an oath to fulfill a mxn and doesn’t do so:
i 377 liable, as per1p:
1  if:heisliable for an action which is otherwise neutral,
(a) then certainly: he is liable for an action which is already commanded
ii  owom exempt, since his oath mx¥nn Nk 0»p5 cannot be “flipped” (Mmxnn Nr H017)
1 counter (2727): he can take an oath to benefit another but not to harm another - “flippability” isn't needed
2 response: he may take an oath not to benefit another (that is the “flip”)
II  foundational 8n»77:
a  excludes: violating a mxn from 2>0°n% 1R 1Y — must be mw1 7272
excludes: fulfilling a mxn (contra 2”27) — parallel to navn:nyIn
includes: harm to self
excludes: harm to others (e.g. assault and battery)
but includes: benefit to others ("R” separates nyan from navn for that purpose)
i question: how do we know that the verses are referring to mw~ qa7?
1 Answer: the proposed navn (eating ynn) is also a ny7n (the violation); and vice-versa = can’t be nixn 7271
2 Challenge: then mw 927 won't work either,
(a) Defense: the need for "R” to distinguish between o nx ny1n and ©*INR navn

(i) Explanation: if nnr nyn is allowed (mxn 7272 ¥70Y), certainly o Nk navn is allowed — no need for
II1NVV

ii  Parenthetic note: isn’t "R” needed to individuate ny1aw, such that there is liability for “just” ny7n or navn?
1 Answer: per 1mv "), who reads v. 2 as automatically covering father or mother (or both) — not needed
(a) But:according to mwr> 7, who infers from 8w» of v. 2 that it would need to be both (and gets indivuda-
tion from R9*0) — isn’t & needed pHnH?
(b) Answer: nwr> "1 will accept ™, - nym1 M1 — who already includes all myaw (just n»In or navn) from
RV IR 737 — N is still extra
iii  Additional argument: since the verse includes a V11 (2°0°n% IR YInY), it must be referring to mwan 127, and mxn 727
is excluded; but if ny¥n 127 is the referent — nothing is left to be excluded
III Examining 2”2 vs. D'non:
a 1"17sretort:
i Since we allow for n™nR navn but not it’s flip — 0*INR NY77 — must be no requirement of “flipability”
ii ~ Defense: we do have minor flipability with o»InR navn — not to benefit the other (e.g. 8% ninn INXR RX5w NY1aY) - but
mxn ovp has no flipability at all.
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